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Colorimetric transformation i =0
¢t =ct =ac*® with a=1,00;b=1,00

fevO1-7r

Colorimetric transformation i =1
¢t =cf =ac*® with a=1,00;b=0,75

fev01-7r

Colorimetric transformation i =2
cr =c =ac* with a=1,00;b=0,50

fevO1-7r

Colorimetric transformation i =3
cr =ct =ac*® with a=1,00;b = 2,00

fevO1-7r
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-: http://farbe.li.tu-berlin.de/fevO/fevOl Lnp.pdf /.psstart output, Page 1/6
n: No Output Linearization (OL) data in File (f), Startup (s) or Device (d)

Colorimetric transformation i =0
¢t =ct =ac* with a=1,00;b=1,00

Ergb —> rgb*d Ergb*d» rgb*do

r00yd

fev00-2n

Colorimetric transformation i =1
¢t =cf =ac*® with a=1,00;b=0,75

Ergb —> rgb*d rgﬂ)*d—> rgb*d1

r00yd

fev00-4n

Colorimetric transformation i =2
c* =c =ac* with a=1,00;b=0,50

Ergb —> rgb*d !rgb*d—> rgb*d2

r00yd

fev00-6n

Colorimetric transformation i =3
¢t =ct =ac* with a=1,00;b = 2,00

Ergb —> rgb*d rgb*d—> rgb*d3

r00yd

fev00-8n
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Colorimetric transformation i =4
¢t =cf =ac*® with a=0,75;b=1,00

fevo1-7r

Colorimetric transformation i =5
¢t =ct =ac*® with a=0,50;b= 1,00

fevo1-7r

Colorimetric transformation i =6
¢t =ct =ac* with a=0,25b=1,00

fevo1-7r

Colorimetric transformation i =7
¢t =c* =ac* with a=0,00;b=1,00

fevo1-7r

Colorimetric transformation i =4
¢t =cf =ac*® with a=0,75b=1,00

rgb —> rgb*d E rgb*da-> rgh*d4

r00yd

fev01-2n

Colorimetric transformation i =5
¢t =ct =ac* with a=0,50;b = 1,00

Ergb —> rgb*d E rgb*d-> rgb*ds

ro0yd

fevol-4n

Colorimetric transformation i =6
¢t =ct =ac* with a=0,25b=1,00

E —> rgb*d E rgb*d-> rgb*de

r00yd

fevo1-6n

Colorimetric transformation i =7
¢t =c* =ac* with a=0,00;b=1,00

Ergb —> rgb*d rgb*d-> rgbh*d7

r00yd

fev01-8n
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TUB-test chart fevO; Relative colour reproduction, Col@@yy input:rgb —> rgb*y setrgbcolor
. Colorimetric transformation of relative chroroiby a, b output: no change compared to in
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